MA 161 & 161E EXAM 1 FEBRUARY 9, 2000

Name:

I.D. #:
Rec. Instructor: Time of Rec. Sect.:

Lecturer:

Instructions:

1. On the mark sense sheet

a.

b.

Fill in instructor’s name and course number.

Fill in your name, student identification number and division and section number,
and fill in the appropriate spaces with a pencil.

Fill in the appropriate letter on your mark—sense answer sheet.

Hand in both the answer and question booklet to your recitation instructor when
you are done.

2. Verify that you have all the pages (there are 8 pages).

3. Calculators are not allowed.

4. Circle the letter of your response to each question.
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(x —1)(z + 3)

> 0 for z.

1. Solve the inequality

A 3<z<?2
B.z<-3 or 1<ax<?2
C. z2<-3 or z>1
D. 3<z<1

E. -3<zxz<l or z>2

2. Find an equation of the line that is perpendicular to 3z + 2y +4 = 0 and that contains
the point (—2,1).

A 3x—-2y+8=0
B. 2 -3y+7=0
C. 2z4+3y—1=0
D. 2z4+3y+9=0
E. 3z+2y+4=0
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3. Find the domain of the function y =

EXAM 1

3—In(z+2)
=

2
-2
4. Which of the following is the graph of y = Himl?
l‘ —
A. Y, B. Y
31, 3
21/ 2
M 1o
321 } 5 5=T L1 RS z
21 | -2
-3 } -3
D. Y E Y
\; \;
1 / 1 /
T T
3-2 }1 123 -}1 123
-2 -2
-3 -3

A z>-2
B. z>1
C. z<1
D. -2<z<1
E. all real numbers x
3yo/
A
/21; 123
-3




MA 161 & 161E EXAM 1
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5. Find the domain for f o g where f(z) = ) and g(z) = T
x x —
Az # -2
B. z#1

C. x#—-2andzx#1

1
D. x#gandm#l

1
E. :U#—Zand:c#i

6. Solve v/3sinz < coszx for 0 < = < 7.

e T
A TepoT
6="<73
v T
B. Tl
3=T<3
v
C.0<z< ™
ST 6

D. 0<z<™ or Fegcm

. X — I —_— X —

=Ts3 2 6

E. none of the above



MA 161 & 161E EXAM 1

7. logé 3” is equal to

WO aw e
8
RS

oy @

8. The slope of the line tangent to the graph of f(x) = 22% — 3z at (2,2) is
A.

4
B. 5
0
C. —
0
D. 3

E. cannot be determined
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r—2

9. lim {(m —2)2 + 3] sin (

2
0. lim 2l
r——2- T’—|—2

18

x2 —2

)i

EXAM 1

= o aw >
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11. Let f(z) = 2% — 3z + 4. Find the point on the graph of y = f(z) where the line
tangent to the graph is parallel to the line z +y = 1.

A, (-2,14)

B. (-1,8)

C. (0,4)

D. (1,2)

E. (2,2)
12. Let f(z) = ;—Z. Then f/(1) is

A0

B. —e

C. —2e

D. —3e

E. —4e
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1
13. Let f(z) = —3z% + 35 Then f'(x) is
x

14. The lim
r—3

ze® — 3’ o : :
—_—3 is the derivative of a function at x = 3. Its value is
A.
B.
C.
D.
E.

1
—3x + F
1
—6x3 + —
x° + 022
1
—6x — o
-6 il
T 32
3 1
J— m _— —
72
4e3
2¢3
0
—2e3
—4e3
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15. Let a be a constant and

f(m):{Qm—I—l, x>1

a(z? +2z-3)+3, x <1

Choose a so that f(x) is differentiable at = 1. Then a is

a=1
1
)
1
“7y
1
“=3
a=20



